Practice Placement Test

1) Solve and graph.
3t-12<-9
e e , \
. 1 & 2 F L] 1 L] T 1 1 L] 1 ,
0 -8 -6 -4 3 & 2 4 6 & 10
B. t<-7
it f —t f } >
40 -8 6 -4 -2 ¢ 2 4 6 8 10
C. t=1

::II
-0 -8 6 4 -2 ¢ 2 4 6 8 18

2) Express the following in interval notation:

.7.6.5-4-3-2-13 12 3‘% 567

A0, 4 BYO 4 OB 4 D) (0, 4]

3) Solve and write the answer in interval notation:
-2(5y—-11)<-12y + 18
A) (-2, ) B) (-%. -2) C) (12, ) D) (-, -12)

4) Simplify the expression:% (12x + 6) — g (6x +9)

a.2%x—3 b.2x+9 c. 10x-3 d.10x+9

5) Solve the following equation 2(9x-6) = 11(2x)
a. l b. -1 . -3 d.3



6) Solve the following equation /8y +4 =6

a.2 b.3 c. 4 d.6
4p—-24

7) Solve the following equation S =P 7

a. 12 b. 3 c.7 d. 10
2t+2 —8

8) Solve the following equation T = -2—

a. -7 b. -8 c. -6 d. -9

9) The width of a rectangle is 4 inches longer than its length. If the perimeter of the rectangle is
28 inches, what is the length of the shorter side.

a. 7 b. 8 (L) d. 12
10) Solve y=4px-k solve forx
v+ y—k 4p+k y—4p
X== == c)x= d)x=
ax=TE bx=lE gx=H gy
i 12

11) What is the value of 42 - <t (7-6)?

a 1 b. 5 c. 12 d. 13
K2-T

12) Evaluate — fY=-1,T=3,andK=-2
Y+2

a. 7 b. 17 c. -23 d. -11

13) Multiply the binomials: (x - 10)(3x - 5). What is the value of the x-coefficient?
a. -25 b. -50 ' c. -3

A

d -4



14) Square the binomial: 2(x+2)* What is the coefficient of the x-term?

a. 2 b. 4 c. 6 d. 58
R-5R6

15) Simplify: P RN What is the value of N?

a 5 b. 13 c. 8 d 6

k k+3

2(2% )+ 2 K

16) Simplify: ( )2 =N(2") Whatis the value of N?

a. 6 b. 5 c. 4 d 3

17) What is the equation of this line?

d a. y==3x—2 b. y=3x+2
c. y=—1/3x+2 d y=13x-2
.
| r: :1 4!\_ :_; 1 3

\

18) Which is a factor of x*+ 10x +24 ?

A)x-4 Byx+4 C)x+8 D)x-6

19) Which is a factor of x?-2x-357?

A)x-5 B)yx+7 Cyx-7 D)x+1

20) Factor the difference of two squares: x? - 25

A)(x+3)x—=5)  B)x-5x-5) O &+1)x-25 D)x+25)x—1)
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